
ERASMUS+ 
HAREKETLİLİKLERİ
ADAY ÖĞRENCİ
İNGİLİZCE DİL BİLGİSİ
SEVİYE TESPİT SINAVI

2020-1-TR01-KA120-SCH-000098345
Numaralı Erasmus+
Okul Eğitimi Akreditasyonu

241218-01





1 Diğer sayfaya geçiniz.

ERASMUS+ HAREKETLİLİKLERİ ADAY ÖĞRENCİ İNGİLİZCE DİL BİLGİSİ SEVİYE TESPİT SINAVI

27 Aralık 2024 241218-01

1. – 9. sorularda, cümlede boş bırakılan 
yerlere uygun düşen sözcük ya da ifadeyi 
bulunuz.

1.	As ---- in elections drops down in developed 
world, more radicalized political views gain 
power in parliaments.

A) acceptance		  B) participation

C) delivery		  D) communication

	 E) invitation

2.	Most companies try to ---- practices that are 
harmful to environment as a result of the 
growing concerns about global warming among 
their customers.

A) employ		 B) use		  C) catch

	 D) propose	 E) avoid

3.	Scientists have discovered a new phase of 
carbon that is ---- than diamond.

A) faster		  B) harder		  C) warm

	 D) brittle	 E) rustier

4.	Earth’s atmosphere burns meteors most of the 
time and they ---- hit the surface of our planet.

A) rarely		  B) always		 C) exactly

	 D) punctually	 E) vividly

1.	 Bu testte 40 soru vardır ve sınav süresi 80 dakikadır.

2.	 Yanlış cevaplarınız doğru cevaplarınızı etkilemeyecektir. Bu yüzden bütün soruları cevaplayınız.

3.	 Cevaplamaya istediğiniz sorudan başlayabilirsiniz.
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5.	When the Second World War ---- in 1939, İsmet 
İnönü ---- the president of Turkey.

A)	 was breaking out / has been     

B)	 is breaking out / is

C)	 breaks out / is

D)	 broke out / was

E)	 has broken out / was

6.	Security measures at airports ---- since terrorists 
---- World Trade Center in New York City.

A)	 were increased / have attacked

B)	 have been increased / attacked

C)	 are increased / have been attacked

D)	 have been increased / were attacked

E)	 are being increased / is attacked

7.	Mother’s Day is celebrated ---- the second 
Sunday ---- May every year.

A) in / on		  B) at / on		  C) in / at

	 D) on / in	 E) on / at

8.	In Rousseau’s idea of social contract, ---- is free 
because ---- all agree to give up the same rights, 
creating fairness and freedom for all.

A) everyone / they		  B) nobody / he

C) he / everyone		  D) she / she

	 E) anybody / everybody

9.	Doctors in ancient times could not observe 
microbes ---- they didn’t have any optical 
devices like microscopes.

A) so that		 B) because	 C) until

	 D) although	 E) after
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10. – 13. sorularda, aşağıdaki parçada 
numaralanmış yerlere uygun düşen sözcük 
ya da ifadeyi bulunuz.

Contary to popular belief, the hesitation to support 
Christopher Columbus’ voyage was not due to 
a belief in a flat Earth. In fact, (10) ---- of ancient 
philosophers Plato and Aristotle, it was believed 
that the Earth was round. (11) ----, the reason why 
Columbus couldn’t gain support at first for his voyage 
was not because people believed the Earth was flat. 
People (12) ---- that India was farther away than 
Columbus thought and they feared that the food (13) 
---- the ship would run out before they reached India.

10.	 

A) when		  B) out

C) until		  D) since

	 E) from the time

11.	 

A) Due to		  B) While

C) Therefore		  D) When

	 E) However

12.	

A) worry		  B) will worry

C) are worrying		  D) have worried

	 E) worried

13.	

A) at		  B) between		  C) into

	 D) on		  E) near



4 Diğer sayfaya geçiniz.

ERASMUS+ HAREKETLİLİKLERİ ADAY ÖĞRENCİ İNGİLİZCE DİL BİLGİSİ SEVİYE TESPİT SINAVI

27 Aralık 2024 241218-01

14. – 18. sorularda, verilen cümleyi uygun 
şekilde tamamlayan ifadeyi bulunuz.

14.	There have been many advances in the field of 
seismology during the last century, ----.

A)	 but scientists are still unable to predict 
earthquakes

B)	 because Japanese island are in great danger

C)	 although earthquakes never happen in that region

D)	 but scientists managed to produce enough of 
them

E)	 however, scientists started research on the 
subject

15.	Although Transatlantic Trade and Investment 
Partnership is claimed to support economic 
growth, ----.

A)	 the USA and the EU want to sign the treaty

B)	 the treaty is almost ready to be signed

C)	 it has a considerable opposition among EU 
citizens

D)	 both countries can become the new super power

E)	 governments are ready to apply changes

16.	---- because there are no documents related to 
their building techniques.

A)	 Pyramids are a popular tourist attraction in Egypt

B)	 We don’t know how ancient Egyptians built the 
pyramids

C)	 Pyramid of Cheops is the largest pyramid of Egypt

D)	 Pyramids are actually tombs

E)	 Flinders Petrie is a well-known Egyptologist

17.	----, it is always recommended to warm up.

A)	 Some people think chess is not a sport

B)	 Before starting any type of sports activity

C)	 Summer Olympic games are held every four years

D)	 Running in the morning can have a great impact 
on health

E)	 Many people have unhealthy eating habits

18.	When Joan of Arc led the whole French Army, 
----.

A)	 France is a culturally significant country

B)	 French women are nearly immune to obesity

C)	 she is a young girl

D)	 she was born in 1412

E)	 she was only 18 years old



5 Diğer sayfaya geçiniz.

ERASMUS+ HAREKETLİLİKLERİ ADAY ÖĞRENCİ İNGİLİZCE DİL BİLGİSİ SEVİYE TESPİT SINAVI

27 Aralık 2024 241218-01

19. – 22. sorularda, verilen İngilizce cümleye 
anlamca en yakın Türkçe cümleyi, Türkçe 
cümleye anlamca en yakın İngilizce cümleyi 
bulunuz.

19.	There is no evidence that using technology in 
the classroom can help students learn subjects 
better.

A)	 Sınıfta teknoloji kullanmanın öğrencilerin konuları 
daha iyi öğrenmelerine yardım edebileceğine dair 
bir kanıt bulunmamaktadır.

B)	 Sınıfta teknoloji kullanımının öğrencilerin konuyu 
anlamalarını kolaylaştırdığı bilinse de bu pek tercih 
edilmez.

C)	 Konu üzerine yapılan az sayıda çalışma 
teknolojinin öğrenmeyi kolaylaştırmadığını 
göstermektedir.

D)	 Sınıfta teknoloji kullanımı öğrencilerin 
okullarda ders konularını öğrenmesini oldukça 
kolaylaştırmaktadır.

E)	 Teknolojik sınıflar öğrencilerin bazı konuları daha 
iyi anlamalarına yardım etmekte fakat her okulda 
bu imkanlar bulunmamaktadır.

20.	According to Moore’s Law, processors’ speed 
doubles about every two years.

A)	 Moore Yasası iki yılda bir işlemcilerin hızını 
belirlemek için kullanılır.

B)	 İşlemciler Moore yasası sayesinde iki yılda bir 
hızlarını ikiye katlar.

C)	 Moore Yasasına göre işlemcilerin hızı yaklaşık iki 
yılda bir ikiye katlanır.

D)	 Moore Yasası işlemciler için iki yılda bir 
güncellenmektedir.

E)	 Moore yasası işlemci hızlarının iki yılda bir 
yaklaşık ikiye katlanacağını söyler.

21.	Hırvatistan 2024 itibariyle Avrupa Birliği üyesi 
olan son ülkedir.

A) In 2024, only Croatia gained membership in the 
European Union.

B) Croatia is the first country to gain a membership in 
the European Union in 2024.

C) The last member of the European Union is Croatia.

D) Croatia is the last country to become a member of 
the European Union as of 2024.

 E) Croatia became a European Union member in 
2024.

22.	Bazı sosyologlar İbn-i Haldun’un ilk sosyolog ve 
sosyolojinin babası olduğunu düşünmektedirler.

A)	 Many sociologists think that Ibn Khaldun has 
founded sociology and he is the first sociologist.

B)	 All sociologists think that Ibn Khaldun is the first 
sociologist and the founder of sociology.

C)	 First sociologists think that Ibn Khaldun is the 
father of sociology.

D)	 Some sociologists think that Ibn Khaldun is a 
pioneer in sociology.

E)	 Some sociologists think that Ibn Khaldun is the 
first sociologist and the father of sociology.
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23. – 25. soruları aşağıdaki parçaya göre 
cevaplayınız.

Stanley Kubrick is considered one of the greatest 
film directors of all time. He was born in 1928 in 
Bronx, New York. When he was twelve years old, his 
father taught him chess. Chess remained one of his 
favourite games. He had a high IQ, but his grades 
were poor in school. Because of that, he couldn’t get 
into a college. Stanley played chess to earn money. 
He used this money on his hobby, photography. 
Stanley Kubrick began his career as a photographer, 
but he later became interested in filmmaking. He 
used unique techniques in his films. His talent is 
obvious in films like 2001: A Space Odyssey, A 
Clockwork Orange, Barry Lyndon, and The Shining. 
Stanley Kubrick died from a heart attack in 1999.

23.	It is clearly stated in the passage that ----.

A)	 Kubrick was a bad photographer

B)	 chess is a popular game among film directors

C)	 Kubrick played his favourite game to earn money 
for his hobby

D)	 Kubrick lived in 19th century

E)	 Kubrick went to a college in New York

24.	We understand from the passage that Stanley 
Kubrick couldn’t get into a college because ----.

A)	 he was not very good at school subjects

B)	 he had a pretty low IQ

C)	 he didn’t want to go to a college

D)	 he was a talented photographer

E)	 there were no colleges in New York

25.	We can infer from the passage that 2001: A 
Space Odyssey ----.

A)	 is not a very good film in today’s standarts

B)	 is Kubrick’s first film in New York

C)	 was directed in 1999

D)	 clearly shows how talented Kubrick was

E)	 is about sea travel
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26. – 28. soruları aşağıdaki parçaya göre 
cevaplayınız.

An extremophile is an organism that lives best in 
extreme environments. The name extremophile 
comes from Latin word extremus meaning “extreme” 
and Greek word philia meaning “love”. They were 
discovered in the 1980s. Extremophiles are not 
complex organisms like humans, cats or trees. They 
are microbes. There are many different types of 
extremophiles. They are classified according to the 
environments they live in; for example, acidophiles 
live best in acidic environments and thermophiles live 
best at temperatures between 45-120°C. Some types 
of extremophiles don’t even need oxygen to live. 
Scientists still discover new types of extremophiles. 
A recent research showed that some of the 
extremophiles become stronger in conditions that 
don’t exist on Earth. According to some scientists, 
result of this research is evidence that those 
particular organisms came to Earth from outer space. 
Some even think that life originated on Earth with 
extremophiles that came to our planet on an asteroid.

26.	We learn from the passage that ----.

A)	 extremophiles are extremely dangerous 
organisms

B)	 Earth is always the best place for extremophiles 
to live

C)	 there are only two different kinds of extremophiles

D)	 life would be impossible without extremophiles

E)	 there are different kinds of extremophiles

27.	According to the passage, extremophiles are ----.

A)	 large mammals living in extreme environments

B)	 classified according to the environments they live 
in

C)	 not from Earth

D)	 always seen in acidic lakes

E)	 responsible for most of the diseases on Earth

28.	In this passage, there is information about ----.

A)	 the origin of the word ‘extremophile’

B)	 the similarities between humans and cats

C)	 how extremophiles reproduce

D)	 who discovered extremophiles

E)	 extremophiles in other planets
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29. – 31. soruları aşağıdaki parçaya göre 
cevaplayınız.

When there is deflation, this means that the prices of 
goods and services are going down. It is the opposite 
of inflation. In other words, it is negative inflation. 
Deflation seems like a good thing to happen, but it 
is actually bad for the economy. Most economists 
think it is even worse than inflation. Why is it so bad? 
People spend less money when there is deflation. 
This means companies earn less money. When the 
companies don’t earn enough money to pay their 
workers’ salaries, they start to fire workers. This 
increases the number of unemployed people. When 
people lose their jobs, they try to spend even less 
money. This brings us to the beginning. Governments 
try to solve the problem of deflation by decreasing 
taxes. That way, companies earn enough money even 
when they sell their goods for less. Governments 
don’t like deflation because it means they collect 
less tax money. Because of that, they prefer a low 
inflation, not a negative inflation.

29.	It is stated in the passage that ----.

A)	 most economists are in favour of deflation

B)	 governments print more money to deal with 
deflation

C)	 negative inflation is the same thing as deflation

D)	 people buy more than they need during deflation

E)	 it is a good idea to spend money during deflation

30.	We understand from the passage that ----.

A)	 governments don’t like economists

B)	 we pay more for the same services during 
deflation

C)	 economists collect less tax money during 
deflation

D)	 governments decrease taxes to end deflation

E)	 tax money is the only income for governments

31.	According to the passage, the number of 
unemployed people ----.

A)	 never changes during deflation

B)	 is not related to deflation

C)	 increases during deflation because companies 
can’t pay to their workers

D)	 affects how well economists earn

E)	 is the main concern of a government during 
deflation
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32. – 34. sorularda, karşılıklı konuşmanın boş 
bırakılan kısmını tamamlayabilecek ifadeyi 
bulunuz.

32.	Margaret: 

	Ʊ I watched The Martian yesterday. Have you 
seen it?

Jason:

	Ʊ ----

Margaret:

	Ʊ Absolutely! It was fantastic.

Jason:

	Ʊ I don’t have any plans tonight. Maybe I will go 
see it.

A) Yes, but I didn’t like it.

B) I was at the gym yesterday.

C) I don’t like the director of the film.

D) Where were you yesterday?

E) No, not yet. Do you recommend it?

33.	Kate:

	Ʊ Did you know that Swiss would be very safe 
in a nuclear disaster?

Edward:

	Ʊ No, why is that?

Kate:

	Ʊ ----

Edward:

	Ʊ Well, that’s very good for them.

A)	 People around the world go to Swiss Alps for 
skiing.

B)	 There are many international banks in 
Switzerland.

C)	 Swiss watches are extremely popular around the 
world.

D)	 They have enough shelters in Switzerland for 
each of their citizens.

E)	 Swiss guards are traditionally the bodyguards of 
the Pope.
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34.	David:

	Ʊ ----

Peter:

	Ʊ No, I have problems with it.

David:

	Ʊ What kind of problems?

Peter:

	Ʊ It shuts itself down when I play video games.

A)	 Do you like your new computer?

B)	 How do you like your new gaming chair?

C)	 Do you have any problems with your headphone?

D)	 You really like your new digital camera, don’t you?

E)	 Do you know how to use this printer?

35. – 36. sorularda, verilen cümleye anlamca 
en yakın cümleyi bulunuz.

35.	Belarus is the only country in Europe that has 
death penalty in law and they practice it.

A)	 There are many countries in Europe along with 
Belarus that has death penalty.

B)	 Belarus has death penalty in law, but the 
government doesn’t practice it.

C)	 No country in Europe practices death penalty 
except Belarus.

D)	 Belarus is the first country in Europe that 
abolished death penalty.

E)	 Belarus is the only country in Europe that doesn’t 
practice death penalty.

36.	NASA found salt water on Mars, which means 
there may be microscopic life on the planet.

A)	 NASA believes there could have been life on Mars 
because they have found water.

B)	 It is possible that Mars hosts microbes because 
NASA found water with salt content on the planet.

C)	 There may be fish in the salt waters on Mars but 
NASA denies it for now.

D)	 NASA sent salt water to Mars in order to make it 
suitable for microorganisms to live on the planet.

E)	 According to NASA, there is life on Mars because 
there is water on the planet.
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37. – 38. sorularda, boş bırakılan yere, 
parçada anlam bütünlüğünü sağlamak için 
getirilebilecek cümleyi bulunuz.

37.	In 1924, Stefan Banach and Alfred Tarski 
published an article. According to the article, we 
can make two balls out of one ball by breaking 
that one ball into pieces and then putting those 
pieces together in a different way. Both balls 
would be the same size and weight as the 
original ball that we broke into pieces. ---- That’s 
why we call it a paradox, Banach-Tarski paradox.

A)	 We can use this method for mass production of 
metal balls.

B)	 Scientists think that it will be possible to produce 
balls with this method in 10 years.

C)	 Russell’s Paradox, published by Bertrand Russel, 
is another example.

D)	 This method is actually used now to lower the 
cost of ball production.

E)	 It seems impossible to us but it is mathematically 
possible.

38.	Ninja paintings show ninjas in black clothes. We 
also see ninjas in black clothes in films. But they 
did not actually wear black clothes. ---- This is 
because a farmer or a traveller was not the first 
suspect of a murder. They also used farmer tools 
as weapons. When somebody caught a ninja, he 
could say they are his tools and not weapons.

A)	 Samurais wore heavy armours in battles.

B)	 They wore farmer or traveller clothes because this 
helped them hide their identity as ninjas.

C)	 Ninjas wore black clothes to hide in the dark.

D)	 People in Japan didn’t like ninjas.

E)	 They preferred tight clothes to move quickly.
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39. – 40. sorularda, cümleler sırasıyla 
okunduğunda parçanın anlam bütünlüğünü 
bozan cümleyi bulunuz.

39.	(I) The most preferred banana type on the market 
is Cavendish at the moment. (II) Nearly all of the 
bananas on the market are copies of a single 
banana. (III) Companies clone bananas so that each 
one of them looks and tastes the same. (IV) But 
cloning bananas also has a side effect. (V) Cloned 
bananas can’t fight diseases effectively.

A) I	 B) II	 C) III	 D) IV	 E) V

40.	(I) All animals communicate in one way or another. 
(II) Some of them use voices; some of them just use 
colours. (III) But, there is something they can’t do 
when communicating. (IV) Some apes can learn 
sign language. (V) Animals can’t ask questions like 
humans do.

A) I	 B) II	 C) III	 D) IV	 E) V






